HE4%V:

RANGLISTE MITGLIEDER +

SBUBEN
- KASSEL

(MITGLIEDER MIND. 36% GESPIELTE SERIEN)

41. SPIELABEND AM 22.05.20

DI. 19. MAI FR. 22. MAI GESPIELTE SERIEN VERL

RANG NAME SCHNITT| + /- || GEW | VERL
1.SER.| 2. SER.| GES. || 1.SER.|2.SER.| GES. A| V % GEG
= |LOHSE, MI. 2 3 1.235 10,7| 1,3 | 6,0
= |RUHKAMP 2 | 10 1.220 14,429 | 3,6
1 [ = |[BAUCKLOH, A. 8 |34 |59%| 1.140 11,3 1,4 | 6,2
2 | = |HONAUER 1.042 | 749 1.117 | 1.378 2 |37 | 61%| 1100 | +9 ||11,7| 2,2 | 5,5
3 | = [mAauL 18 | 23 | 46% | 1.060 11,9 2,3 | 5,0
4 | = |BRAUNHAHN 12 | 23 | 43% | 1.039 12,0 2,5 | 44
5 | = |KURING 976 631 |1.512 12 | 27 | 49% | 984 +7 |l10,9] 2,1 | 46
6 |1 |BAUCKLOH, W. 741 | 1.766 1.048 | 856 53 | 89% | 939 +1 |88 |11 |56
7 |V Jv. ROOS 995 | -436 728 | 641 26 | 2% | 926 -20 11,1 23 |41
1 IKNOFEL 1.409 | 1.129 935 | 1626 18 919 | +45 ||10,4] 1,8 | 3,3
8 [ = |GLAGOW 1.180 | 1.088 991 | 564 36 | 58% | 918 -9 [J103] 1,8 | 43
= Just 1.078 | 1.017 14 | 17 918 10,0 1,9 | 3,6
= |POTTER 16 900 98 (23 |54
9 (1 |DELLITH 746 | 589 1.426 | 940 46 | 74%| 888 |+14]193 |16 |41
10 | JWINTER 1.475 | 898 16 | 32 | 59%| 879 10,5] 2,3 | 3,5
11 | = |BREITFELD 51 |1.412 31 | 51% | 869 9,8 | 2,5 | 4,5
12 | = [KEIM 24 | 40% | 866 81|11 |54
13 | = |SKWARSKI 18 | 20 | 41% | 856 9,9 | 2,7 |54
14 | = |EWERT, w. 2 | 30 | 49% | 847 86 | 1,7 | 49
1> |[KRATZSCH 1.065 | 1.069 10 | 18 836 |+29|174 |08 |50
15 | = |GANTE 844 |1.075 434 |1.382 10 | 59 |100%| 818 +3 []10,3] 2,9 | 4,2
16 | = |[KUDERLING 668 | 604 1.072 | 543 45 | 75% | 810 -1 18116 |47
= |GESSNER 17 792 9,1 |20 |42
17 | = |JEWERT, UWE 30 | 49% | 774 7,7 | 1,4 | 5,7
18 | = [KOSSINGER 898 | 1.125 12 | 21 |40%| 691 |+34 73|15 |36
19 | = |BLAUERT, A. 32 | 53% | 617 62 |15 |46
20 | = |[PORTER 1.085 | 558 463 | -60 26 | 43% | 550 291170 |23 |31
= |LOHSE, MA. - 2 | 3% | 1.239 10,5 | 0,0 | 4,0
= |GRECIC - [ 11 J18%| 836 73|10 |65
= |BOHM - 2 3% 834 65 |00 |70
= |DILCHER - 6% | 789 78 | 1,5 | 45
= |REITZE, A. - 3% | 787 75|15 |35
= |HEYNER - 5% | 777 6,7 | 1,0 | 6,7
= |REITZE, R. - [ 112 J18%| 766 7,9 | 1,9 | 4,7
= |WIESER 722 | 301 - [ 22 135%| 710 83 |20 |32
= |FLOTER 594 | 635 - 2 | 3% | 615 6,0 |20 |15
= |APPELBAUM - 1 | 2% | 289 50 4,0 |90
= |KAUFMANN - 1 | 2% | 173 6,0 | 4,0 | 2,0
= |JUNBEKANNT - 1 | 2% | -309 8,0 8,0 |20
DURCHSCHNITT | 818 93 (1,7 |47




